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202 04l 4,000 4,000 0
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Al 1,478,680
301 et a = 9,483,909 5,853,170 3,630,739
= 7,635,559
< 369,670
Al 1,478,680
01 MEIBZE 2053 9,483,909 5,853,170 3,630,739
OJI=d3 X3(5,570%) 9,483,909
= 7,635,559
< 369,670
Al 1,478,680
Lol =g X3 45,120 52,560 AT,440
= 9,024
Al 36,096
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< 9,024
Al 36,096
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OXF2=24 X2(188Y) 45,120
< 9,024
Al 36,096
CF AMIEH 2208 XA 45,000 15,000 30,000
< 13,500
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< 13,500
Al 31,500
10 AtSI =X 2 X 45,000 15,000 30,000
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OAlLIN 28 2¢ 118,802
=2 25,272
Al 93,530
LOoSE ESATANLE 2=F KNIFAY 66,584 15,000 51,584
J| 25,792
< 8,158
Al 32,634
307 21201 A 66,584 15,000 51,584
J| 25,792
= 8,158
Al 32,634
10 A2l =S X2 X 66,584 15,000 51,584
Ok SSd S20 AAEISAY 15,000
< 3,000
Al 12,000
Ok Ssed =201 A Y 51,584
J| 25,792
< 5,158
Al 20,634
Lo=XIAE Jle &3 555,000 479,130 75,870
< 245,000
Al 310,000
I2Y N4 =25 2 JIsZs 555,000 164,300 390,700
< 245,000
Al 310,000
401 AIEHI L 2 CHYI 555,000 164,300 390,700
< 245,000
Al 310,000
01 A& HI 555,000 164,300 390,700
OaZs1~38 Z2HMU= 200,000
< 100,000
Al 100,000
OFREALS8238 Z2HU=S 200,000
< 100,000
Al 100,000
OZEgs11s Z22E Y & 222 E 90,000
< 45,000
Al 45,000
OLEEH JAZ2IE2(272L) 65,000
A8 ZE=2s =4 431,366 298,475 132,891
= 70,500
< 14,100
Al 346,766
SHAEA 22 29 431,366 298,475 132,891
= 70,500
< 14,100
Al 346,766
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101 124 dl 33,576 31,415 2,161
4 D12t Z2XREES 33,576 31,415 2,161
O3JZ A 224 E= 13,111
=JIE= 41,800 = 1% = 230 9,614
oFxsad 41,800 * 1H = 48 2,007
o ZHAIH| 3,000& = 1% = 230 690
o ZE FOHI 400,000 * 23] 800
OZ3Zd Mx=&Y s RY2e 22 NE s 20,465
cJIE2s 41,800& * 6H * 64 16,052
oFFd 41,8003 = 6Y » 13¢ 3,261
o 2HAlH| 3,000& * 6Y = 64 1,152
201 L2l 125,070 121,680 3,390
01 At 2t 2l 5,000 5,500 A 500
OZRY 2 ALBE % 57
150,000& * 128 1,800
OZH2R 2 ATY 22X 22=
200,000& = 5H « 13l 1,000
ONM&ZH Xt 550,000& * 43 2,200
02 =24l 120,070 116,180 3,890
Oz22= & HA 33,520
o XS XA 50,000& * 13 50
cEIMNERES 35,000& * 23l 70
cZHABH HO+ERS 150,000& * 12& 1,800
ocZERA - SFEET HMIZ
2,500,000& * 12& 30,000
ocB2RA SFINE 20,000& * 80= 1,600
O =zl 71,150
ocZARA L FEE Pyl
550,000& = 53 2,750
ot RFMH 5,700,000& = 12&8 68,400
OXt&tl 300,000& = 1CH = 128 3,600
OA& &8l Sl 7,000
ostEE Al |2l 4,000
cZARH AE KX 2el 3,000
OZ23I3d FUAHIAAE KXzl
400,000& = 123 4,800
206 TH 2 HI 20,600 19,900 700
01 MHZ 4l 20,600 19,900 700
Holg X 2 ¥ g5Es 72 8,700
o 224 30,000& = 150m’ 4,500
ocgszs 28,000& » 150%& 4,200
OSdR¥ OAE #7¢ 570,000& = 10CH 5,700
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05 RIZt2lEt = 19,920 22,200 A2,280
OZRY FMIIHBL FAS2SY
650,000& = 123 7,800
OH#ZRY 24HNE S2Y
570,000& = 123 6,840
OEZE UIIHEAE A2
440,000 * 12 5,280
401 AIEHI L 2 CHYI 231,000 102,000 129,000
= 70,500
< 14,100
Al 146,400
01 A& HI 231,000 102,000 129,000
OB9A4E &X & WE 1,200,000& * 507 60,000
O22ZEH M2 B 30,000
Ost&E & stE2 B 141,000
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< 14,100
Al 56,400
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OA&EHl s Xl 2,000,000& = 30H A 6,000
307 glz2tol & 275,000 275,000 0
05 RIZHRI &3 275,000 275,000 0
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28 a8 84 399,436 461,078 AB1,642
= 112,000
J| 67,193
Al 220,243
a4 23 & 20,522 20,332 190
201 L2l 1,500 1,500 0
01 At 22l 1,500 1,500 0
Od4doyd =olatt M= 2,000& = 7509 1,500
202 04l 2,592 2,592 0
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J| 3,000
Al 3,000
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